1,4-Dioxane
Response Ratio

1.2+

Amount Ratio

Resp Ratio = 5.99e-001 * Amt + 1.17e-002
Coef of Det (r"2) = 0.999 Curve Fit: Linear
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n-Nitrosodimethylamine
Response Ratio

0 0.1 0.2 0.3 0.4 0.5 0.6
Amount Ratio

Resp Ratio = 8.08e-001 * Amt - 1.24e-002
Coef of Det (r"2) = 0.999 Curve Fit: Linear
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bis(2-Chloroethyl)ether
Response Ratio

0 0.1 0.2 0.3 0.4 0.5 0.6
Amount Ratio

Resp Ratio = 1.54e+000 * Amt - 2.22e-002
Coef of Det (r"2) = 0.999 Curve Fit: Linear
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Pentachlorophenol
Response Ratio

5.50e-002+

5.00e-002—

4.50e-002-

4_.00e-002-]

3.50e-002—

3.00e-002-]

2.50e-002—

2.00e-002— o

1.50e-002-

1.00e-002—
i g

5.00e-003-

0]

0 0.1 0.2 0.3 0.4 0.5 0.6
Amount Ratio

R = 5.90e-002 A*A + 4.59e-002 A - 5.03e-004
Coef of Det (r~2) = 1.000 Curve Fit: Quadratic
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Chrysene
Response Ratio

Amount Ratio

Resp Ratio = 4.87e+000 * Amt + 1.14e-001
Coef of Det (r"2) = 0.997 Curve Fit: Linear
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Bis(2-ethylhexyl)phthalate
Response Ratio

0 0.1 0.2 0.3 0.4 0.5 0.6
Amount Ratio

R = -4.42e-001 A*A + 1.05e+000 A - 1.86e-002
Coef of Det (r™2) = 0.993 Curve Fit: Quadratic
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